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SE+2X,+Xs 240
um: Mﬂwu anw 20
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il T el pfasenaly I 2 2 ) il Jue Y e 17
1)  Max. Z=10X;+15%;
Sub. to:
X, + Xz €300
Ky =200
X, %220
)  Max.Z=3X-X2
Sub. to:
X;-2X2 24
X >4
X +X2<8
X, Xz 20
15 (M) Ty, plisianly & Bled] G2l 3L JreE gt d 18 |
1) Min. Z=20%;+15X%;
Sub.to:
2X; +3X2 2 10
4%; >10
Xy, X220
2) Min Z=30X;+100%;

Sub. to:
X+ Xp=120
X, <100
X,z 80
uﬁ? umw >0
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B gheaddt 2ad M, Lot

Z 3l 258 n (RES) 551 G5 kil 3 B GOyl Wl 0 o -3
HE 350l (W) Gudl s 3§ (Y)) o ial] (6) odhalans 1,3
¢ Gl Al 0238 sV 1300l (2) Gadl Bls e Gucf,%w -4
(SR 5 gl B 58 e (RELSL) o281 Gl 4
st St o) oY 23l 2,8 i ool el eduales B gize Jldy] 5
halons Bshian Utn 1 5l2f o7 ing 0o 1ae$ly cabas] b giuall
I Xy ol el
Y520, of & <l edf e 2L phe b4 LS| -6
(2 (gl ST 5n ST L) (gt ST o sl e 3l LSl o5 7
Sl
e S
3P el =053 ade s m =l il sde 1018 13 edo ¥l 73 puill Ul § -1
In=opdlsney an =l wdl sis ] AL 3 pardl Bt m,..P.
b stel o .t (Dual) Julal @Al (Primal) 4531 23 paddf b o2 aie -2
LSl
8555 Latis () Gals 5T o a5 200 wbde mar 0,5 0l g - 1
(Max.) Subl dls
0555 Lakie o(2) (g3lumg 5T a8t 5030 lanis ar oS ol eg —o
. -Min) Gudl Dls .
¥ J8 ms 51 23 42ld (Optimal Solution) Je Y e -3
LW =Z5] o (gl ¢ Jlall 13 ol
S He Jadt DGV 41 (Dual) Ll goseld Jua0 (A slgf e ~4
et mw&& S J ot o 5800 (Primal) ds¥! zoseill 2
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The Dual Model

shedze:1-4

a2 (LB ikl Tt 3 e (Primal ModeD) Jof 358 J3 OW
Jeal Jo dr 2 BURLL 5 pell 5 (Dual ModeD) Juall 3500y oy 5 2354
do¥1 gdgerld J2aYi 21 o illey (Optimal Solution)
b b ] Ze el Jom 3 B et 2l JRay
e S adte o Jo¥ bt 22 31 2358 el il e Ll Sl el -1
e gl ornzy Lotie o g 2081 (8 Jo'd e B s 3B
AoVl gl B

S8t o e o 3,80 ol b gecld et M o el oS5 -2

(Dual) Jula zasentt 3 (Primal) T £aeldt Jasod Clglas:2-4
JB e L3lh (Max) ofond Sudl B> 1S 135 el Al T 5 —1
s 305 (M) (L5 bt Dl 3ls 15 Ll ¢ folald 5 el 3(Min)

ANV oo N.U.ub.f.c Hadt By PT.Q..N mﬁv‘.&u - an_r.&.* m...u-w.b.&__ Ww Q(Hm.uﬁu ﬂdk_h.w.
U 3l 3 (W)

L et B (Y J8 G5 o o3 b el ol pize S -2
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2) Min. Z=3%,+2%,
Sub to:
10X +20X,2 100
15X + 12X, 2 150
16X, +18 X; 2200
X, X220

SV (X)) el @eles Bhae U sl Yol 0 5
10 200 Mo g5 g6
oI5 12 P20 12 18
s sy
Max. W =100Y; + 150, + 200Y,
S Subtor
0¥ HI5Y, +16 Y, < 3
20, 2Y,+18 Y, <0
. .. YL, Y., Y320
3 MaX Z=X+2X,- 3K,
Sub. to:

2X1+2X,-%; <20

X1+ 3%, <18
2X,-2X5>10
NH 3 Nmu Mm N O
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aldasd] oo

el ed o8 20l (W) Gl 8ls edbag J11 s fezy s «(Dual)
) -dpddl 8 Ry Lolileao I ST (Sy) 5T I
(1) e
S : N
33V (Primal) 23591 3le2ld (Dual) Al et b

) Max. Z=X3%-2%,

2X4+ X+ Numw £10
VX 4%,

!
% <12y,
| -
./:\ 3% +5%3 518 /_UTN
X, X, X320
scfontd
hatme L giome Lhios sl Yol o 58 ¢ U1 25 psil S w1 (5
y : YIS (X)) o i
21 278 21 3
1 4 0| =1 4 ¢
305 |205

S Min, W=10 Y+ 12Y, + 18Y;
Sub. to:
Y1+ ¥4+ 3321
Y +4Y; =3
Y +5Y5;2-2
Y1, Y2, Y320
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e Wl e

By Jell pltsenaly Jlal) 25 pacld 81 o1 s -2

;\

s fomtf
Y ol e «(Dual) FHE 3 patll L -1
Max. W=30Y;+40Y, ﬁ m...%\\ 1 4
Sub. to: Qr@ 4 - ..\;MT L
\/w\\\.\.;;.. ..... - \.\.Hn.tl\\
?S&m? Xg ¥
Y, Y220
: .d_.m n%r.c ﬁu.».ft CT&: J=1 otz
\\.\.... Max, W-30 Y, -40 A._.\N OmH - Omu = o T “u R
Sub. to: .
e
A.D.Th.m.m._.wH Loo=2
=
W.M\.“_...TM..%,.N o + MN ”“_.
Y1, ¥220,8,8:20
Y gl o e SV g s 0¥
Non- B.V. cul gl
i Ratio
%
2
%
Pmnuu%._r‘n..nu fnh.vm.ﬂt..bL_ J/G.C“m_ 3 waxl]
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2 s
0! 6 () sl o o ST 203 o Slidhe Jag Wl 0
Max. Z= Xyt 2X; - 3%;
Sub. to:
2 + 2%z - X3 520
Xi+3%;, <18
2K+ 2Xs  $-10
X,X, X5 20
(Y el e (Dual) S o5 padl (oS ade

T

Min. W=20Y+ 18 Y2 - 1075 2 2-1 21 0
1 3 0 =| 2 3 -2
Sub. to: 0

-2 2 -10 2

2Y1+ Y, >1 __

2Y;+3Y2-2Y5 22

-Y +2¥; 2-3

Y1, Y2, Y5 20 e
{2) Staa -

t SYLR) At 22l 2548 ol

Min, Z=2X;+X»

Sub. to:
\Il\\v
\ X1 +3%,230
& 4K+ 2%, 240

X, Xz20
HENIAY
kel 591 3 gl (Dual ModeD) Rl 73 posdf st -1
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0 0 0
New(W)= 10 (~(-20)¢ -} ||
0 Nm 8
. 20 o | 20
@M; ﬁ 117 0o .‘
1 0 1
Zaﬁﬁmmvn K lgv* lx = &o
0 %1 1-H,

o Lol| i

Wl (o 6 o i o] el

&t p sl
| Non- B.V. 4501
..m.-.<.. o MH M\aw mu & m» Q....mmv
M‘n 0 i W IIH- 1
10 10 2
v, 1 0 - 2
5 3 0
W 0 0 _ 6 8 20

m_aﬂrlﬁfﬁfeﬁhgﬁarrﬂvﬁ%fg

L o= ol ke
MJ =

Maw = N

W =20
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.. Pivot equation = T,M,Wuwuuﬁ
147447474
=1:10,L
477747773
[~30 AR
1
~40 0
New (W)= ¢! ~(~40)*| ¥ |=| 10
0 0 0
0 1 20
L A4

3

2
Zoémmpv =g lﬁv*

1

i

Nozn- B.V. ol | 2
Y, 8;

0

10

7 e
anhhrl_ rlm...nt._ FWL(-W.-.M}D...F:/PML&F_U.&T»&

. Pivot equation = T, oulwumu&
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VS oY1 s fmy 58

Non- B.V, el ,m: i
= ®i) Ratio
mw ..H..JNI

7
z 2 0 0 20

255 i) p.&m_wﬁt_Jgk:%L_

- Pivot equation = muf.wu 0, ﬂ
21 %] -

7 1 0
Zmémwwuu 0 lﬁd* & - IN
0 1
12 X X

-2 X 1
-5 1 0
New(Z)=| o |-(=5)% ¥ |=|4
20 g

%

-145-

:(3) Jie
NN IRASSRE PSP
Max. Z=2%;+5%:
Sub.to:
3%+ 5%, £ 8
20X, +TX2 < 12

uﬁ . Vﬁm =0
NEIAY

bl Jo 9 23 acdd (Dual Model) Julil 73 sedl 15 -1

ol i geld oW1 (A gt o 880 LA Q&L_%_., slgl -2
. R P (R

3

LA

SIS (Dual) Julall 75 edl o8 -1
Min. W = 8Y; + 12Y; |
Sub. to. :

3Y;+2Y,22

5V, +TY225

Yy, Y220 __
:(Primal Model) (J5¥1 73 50ld oYt - alg} -2
Max. Z-2XK;-5%2-08-0S, =0 _
Sub.to:

3¥ +5Ka+ &1 =8

2K +TXy  +S2=12

Ky, X, 1, S22 0
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..-h....n.ﬁ.ﬂ rnn_rr PT.. Q.m..\.ﬁuu r..m el mMmEﬂ Q..w.\rm ..»:Tuh

& diaddt oo At . Non- B.V. af )
m T MWH uﬁn mH mu Quu,mv
bl 213 a7 515 (Dual Model) il g3 1520 s 1 | % | % 1 L 0 %
Sl 3, anll gt (P U0 3. 2 .
HE @l Pl Mode) 431 351 5 s 3,y 2, NEARREARRE
.(Dual Model)
HMIU.&_ AHL@V - 4t _ “ . - . - . Nu.f H O H Q W
o 3 ki 42 ]| zoledd ¢ Al zisedl st 3w
. w H(AM . = - .
__v . £=X-2X, : ade [C; 20,7, T ol ol il (g 5Ly ST Bl o3 o 0T s
. Sub. to: ) T S &
we SV LT el ¥ 08,
NH rTNummﬂm ..
NH =0
2X; - X
- 1-AX2 <4 NNH&
i XL, X2 0
. Sub, to: G 8tlen e famms (Dual) BLAS 23 pcll a1 Jould 2l LT
X, + 2%, > 4 ubg%kmbffﬁ@%ﬁfﬁ&@?&&?&%&f%ﬂ&#
. el " s - * * PO | i ..L.Wmnﬂ - rrn
X+ 2%t Xy <6 10] 51 (82,81) 581 el il Jaut s r.w.:. (Z*) ls coalas
Iy F K+ 2% =5 Y=l
X, %0, X320 Y2=0
3) Mex. z=2%, +3X, Wh=7*=3§
Sub, to:
Xi+2X,220
X1+ Xy =12
Nr Nu =0
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The Transportation Model

aldasil ogoy
LS EP) Ll 320 3 o8 b 018 3] 4
Min, Z=X; +2X,
Sub. to:
2X + 6X5 2 60
8X) + 4%z 2 80
X1, X220

- o glbll :
Stel J5 31 25 sacld (Dual Model). B2kl -3 el oSt -1
Tyl phasezaly B o5 gacl] o1 i o -2
S 3 gecld St a8 80 1oV 3 gecll Yt e -3
t Y (LP) At A2 01 358 ) OIS 13 15,0

Min, Z=X;+4X;+7X;3
Sub. to:
X1 +2% z1
X1+X+% 23
3X2+4Xy 26

XXX 20 R
gl

] ,“f 75 40 (Doal Model) B2kl 5 el st -1

2 kil pliszaly A ﬁ&?c Sl rr_..__ dor =2

.C_J._tmw_ m..u\?f.c n.h__.Tb_ FTL o o.\ikfh r..w.uh..-: m,u.wb& %!L L.hl_ dom —3
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The Transporation Model

1dadZa 15

el el el K LAl L st 3 s
o . m..n&..ﬁuv__ dlae¥i Bylsl Ll s p..w § S Laal oldy (LP) 1Ll Lol | mmn.\.wc ﬂrr:
e e Tl CLadls sl 553y i 2aladf il EEIPRWRERE

PV T g Ll G (GA2aYD 032a¥1 51,0 1 Ll
- AR A (ol et 2i i 125
e AN e U sl Bl o 3

g . SV R el (Ko

Demand
iy el
Supply (a)

C a)

X X

S,

D, D,
5 | Cyy | | Ci |
Ca|  |Cy]

22
Xy p €

S Cy | Co |
X Xn
8a Con G |

Ko | Ko Ao
® ] 5 CR O S

I ———
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Kt Xy + X5+ .. +Xg =by
X+ Kot Xpp+ ot Xy =by

X+ X +Xan+ .o+ Xpn=b,

SAcabiaf| pte a8 T

X1, X2, K13y ey Xeig 20
LR T IR}
wdugt| Ails n\w.bﬂ
Min. Z=3"%"C, X,
™
1z deaifl 3948 um......uﬁ
_Mum_.u. =3, i=1,23,...m

ﬂu“c.ct.v: .mM_L.u 248 -

el puis i 82
X, 20 , Yi,j

-153-

IRTIA ST

Ol oo
i=123, .., m
ji=123,..,n
1ol 3t

D 35 pladly (ol a5 S Ji5T S

Gv ql..w..u Q‘.FBL_..“ RFI: ﬂVG..L .mmﬁn Lw.mn Hv_.

S AL D g S e Bl dodl Gepeds JB IS Ji 1 Gy
) S
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N oty B0 (ga] plasinaly J) S Sl M g3 el B3le

1ol o A iaft -1

e NV FLIER £
Min. Z = CnXiy+ CraXiz+CisXys + .ot ConZXon

zageifl 2948 L1

el 351m 08 1
Xyt Xp+Xp+ .. +Xn=a
En+XptXp+.+tXm=2z

X+ X+ s+ .+ Xpn=an
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:Feasible Solution Methods OS5l ot Slamsf 5,00 M f

- North - West Corner Method Al Qe o5 M3z, b -1
© -Random Distribution Method el el 3 b ~2

“Best Solution Methods Jusd¥f (ol sbons] Gyl 1esi5

Least Cost Method ZlS' 591 asadl 23, -1

-Vogel's Method {3 i3, A -2
*Optimal Solution Methods (16¥1 (ot stonsl ko s 2115

Multipliers go@ow ol lalye 23 s b ~1

-Stepping Stone Method m.\'rb Sl EE b -2

oLl DA Il oo g0 IS0 30mly 22, 1 S, { bt L Ly
: p...m/hm 2
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12U J=olbdia m..ﬂ.mﬂ" 3-5

”&wrmhav_mﬁkuc.ﬁ_ dsdor 0315 Com oo LI JSls s
:Closed Trarsportation Problems 3iatf J2ibf f=alto:1-3-5

mhln: (ia D 1YY ,,.QLL_ .ﬂcoL..M o m}hamh‘q(._ fu.r:pmu_ Pv,u‘ohu CPﬂL
ol R_ :td trr& Jadt J e ob

m n
MP. HMF.
=l iml

:Opened Transportation Problems Tt JE st de 1 2-3-5
rLthﬂ.; ot c.TAL ol ro_ .E..L ola 35 be,_..E._ LSl @bh Cd Lo

anL_Q (Q..Cﬁrwhc_.rvh nChrquLPll_rng mgh.rwn.\hﬂfh.\s

MPHMF
1 oL
ler o Lo ool B3l 1,805
N Ya >,
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JE=5 Zh8aT el uadh

g (Cp) Al IS5 8 phama 3

108 64
Cy=[1417 5 2

187 119

sgddat|
é&&@uﬂmfumq?ﬁ_rﬂg&&{g%_ JAH s
ﬂ,.ﬁcm_@g*ot_ﬁmrg

\ | o

[V B i G adlel il 5 05 |

|

N
N G | agm Gud @at | oA
A s ;/_ @)
Wm0l 'x, [ s | § | 4 | 500
750 750 250 0
@) o | 14 ] 17 | 5 | 2 | 000
1000 0
(3) Ll | 18] 7 | 1 | | 9| 500
250 1250 | _rs0 0
() dbefi | 750 AT50 250 230 4000
fnv 0 000 ¢ 0 0 14000

SV sl S Bl (s LI odd Lo aZ RIAY
K31 =Min (ay, by) :
= Min (1500, 750)
=750
Lol e Lo b oy o(X00) T G 5 b(750) st 55
D) Obos 350 oo 8 Mkl 20Tl e 1S 5 (1) #5530 3 m on By pall
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1(Salh fonl slonaf 1 1-4-5
b plasanly ¢ o8 ¢ Jadl AL (Feasible Solution) oSl L sl
1SV L 5 5 8e 5 g Al Jlatl 530
:The North - West Corner Method et o ladidl (8 3 A2y 0 .
m.lm....LEHotnmlh.FwDC oerL_ LMEPT&.\V .._ntc.,qr.u‘om.m.whr.: odd Jf
3 gmally (Jlotd)) 51 il 3 5 S do¥F Jadl s jleatf e gl
FA3Y) Al I B el ftatna ¢ 551 gt o (A Y
X1 =Min (a1, by) R,
LaS JsdaSs «(Kap) 2dseld (bp)  (ap) cpze Sl B e ilol &

RTPUAL PR Y]] e s LN dn J e il C...o.»ﬂ: ..

A 8 30 3510 1B n Lo g ol oS g 0 e AT oy

A el oda o g ¢ JEIT AL LT bhe s 5 AU oda Gas

(@) g

Lyl tasls 5,0 55150 cpo b g ekl Lo J2 iU LY

gl el Esla o ol i el (55 IS T phamn g DYl 581,m e
Dl I Jolenig ond pdan¥T 581 e (3 gt ol g

Ll las Loy Al lasll | 5,0l 51

o 750 &b 1500 (1) o155 50

o 1750 * o 1000 Q) b~

ok 250 e 1500 (3) LLJI
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:Fhe Least Cost Method a2t (53 ,nuati 4z, sulo o
S e Bl e a3 et S 38 b e 2T oo of
O BBl ol Gy 185 e (Cy) IS B ke G 280 o
GHE Y Byl ol By Lol Ul s 3 (L) IR
A dgme s J) Gt Bty 28, 1 o ol Ll e ot 1) 55
| B Co S B el 2 Sy 1 L
o Y Ol s M s e LS JENRPLR
S (G R U LSS B e § RS B sl -1
o V1 Ll 0 B U85 3V 550 8 (%) ot APPIAT
coo - Xy=Minfeb)
S e ) L LSl () Tl LSl Jeis3 el o
s dCy) S B s W1 RS 51l e 0% &l day =2

R A L ] W 5 1 0,8

b L (1) dB 3 a1 e 2 bl LYl L e
HMim) oS b BT Jal CAIISS 0,85 e sl Y andf

-15%-

(2) Jte

aldesll ogr V== =

]
; e
—_————————.
e e e e e e e
~ —_— e e

,W
| i Al a3 o 5 o il Bny e 1iSn
(S el e ¥l Sthe o a3l ST 43
X12=Min (a;, by) .
= Min (750, 1750)
=750
g K22 =Min (az, by)
= Min (1000, 1000)
| = 1000

X33 = Min (23, bs)
= Min {1500, 250)
=250
X34 = Min (a3, bs)
= Min (1250, 1250)
= 1250
paldll et ssle & L1eal (Total Costs) il NS 5 S5 ade
LSS
Min. Z=10%; + 8Xip + 17Xz + 11Xa3 + 9Xas
=10 (750) + 8 (750) + 17(1000) + 11 250) + 9 (1250)
= 44500 JD.

1 bi2B ¥ fondf slong) :2-4-5
g b D pase S ¢ ot UL (Best Solution) J2Y1 Jt ey
t S ol o L 7 0Ss s <Bls 5Y1 el
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Ig v o is .
- = JAIrhd udidigen

X3z =Min (a3, by)
=Min (1500, 1750)
= 1500
(0B ade (C=8) e il Z2ls Y1 mali -5
X2 =Min (ay, by)
= Min (1000, 250)
=250

| 10l 4le (Cu=10) ya et ¥15 S 2 BY1 L aradf -6
X1 = Min (a1, by) ) g
= Min { 750, 750)
=750
rc%..M:.W o ﬁﬂ.bﬁ.mﬂ r.v»t%_ tala L.m.w mu._«o.L (TC) 341 a1 Dw_
Min. Z=10X, + 8Xip+6X3+ AX g+ 2K os + TX32
=10 (750) + 8 (250) + 6(250) + 4(250) + 2(1000) + 7(1500)
=24500 JD. |

s oW Lot Shons :3-4-5

b pliseuly o o8 ¢ f81 USAL (Optimal Solution) J2eVE sty
TS ol o et 5 558 Sy ol s
* The Multipliers Methods vyt Lo(se 22,10 o

3| ib_w_ - e dmoedd o U 3 L2581 e 22 0 e
QUSRI+ N A ﬂl_ oo 3 0 Al el Lo 28 ol oz
PV Rl e 12 b ot sl s B9
b o (V) o e 5™ 5 (U e G ghaall il e anaZ 1

TS BY] emal 32 L Sl J Jpaa Lo
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750 250 250 250 | 504000
750 0
@ o | 14 ] 17 | 5 | 2 | 00
: 1000 0
) Lt | 18 | 7 | 11| 9 | AsT0 _
1500 0 ”
() L | 750 750 250 1250 é ”
0 50 0 0 250 0 {4000 _

Xas =Min (az, ba)

= Min (1000, 1250)

= 1000

NE = gs mm.r. ._u,bv
= Min (1500, 250)
=250

1006 e (Ciemt) g JUI TS P91 el 2

100 ade «(Caa=2) pas LS Y el Lzl -1 -

0% 4ls (Ci=6) pa JUI TS Y1 azall -3

Xy3 = Min (a1, bs)
= Min (1250, 250)
=250

104 ade «(Co=T) g S AAS BY) oaall -4
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LN BT R . . ol N s -
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